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Perimeter and Area of Polygons
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EX 1: Determine the perimeter and area of each of these.
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b) An envelope with length of 8 inches and width of 14 inches.
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c) Around stadium with diameter of 1.5 dm.
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EX 2: Determine the area and perimeter of these shapes.

a) Assume this is made up of a square and a circle (cut in half)
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b) This is a semicircle on an isosceles triangle.
av & of OFC A V‘F

A= half crde + Isowales "Mdh’lc

=3(w )+ é—(w- ll) i
= RST+LO  in
~ 993 l:"\L _F‘
rv\ékv D‘c |N\D.‘kf3
F t\:’@ cirele 2 S\J.cs of A

=3 (2r(E)+2() &
= ST426 o = Y13

13in



